

Truncated Series with Nonnegative Coefficients from the Jacobi Triple Product

Liuquan Wang

▶ To cite this version:

Liuquan Wang. Truncated Series with Nonnegative Coefficients from the Jacobi Triple Product. Hardy-Ramanujan Journal, 2022, Special Commemorative volume in honour of Srinivasa Ramanujan - 2021, Volume 44 - Special Commemorative volume in honour of Srinivasa Ramanujan - 2021, pp.51 - 60. 10.46298/hrj.2022.8931 . hal-03498175

HAL Id: hal-03498175 https://hal.science/hal-03498175v1

Submitted on 20 Dec 2021

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers. L'archive ouverte pluridisciplinaire **HAL**, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

Truncated Series with Nonnegative Coefficients from the Jacobi Triple Product

Liuquan Wang

Dedicated to the memory of Srinivasa Ramanujan

Abstract. Andrews and Merca investigated a truncated version of Euler's pentagonal number theorem and showed that the coefficients of the truncated series are nonnegative. They also considered the truncated series arising from Jacobi's triple product identity, and they conjectured that its coefficients are nonnegative. This conjecture was posed by Guo and Zeng independently and confirmed by Mao and Yee using different approaches. In this paper, we provide a new combinatorial proof of their nonnegativity result related to Euler's pentagonal number theorem. Meanwhile, we find an analogous result for a truncated series arising from Jacobi's triple product identity in a different manner.

Keywords. Partitions; truncated series; Jacobi triple product; Euler's pentagonal number theorem; nonnegative coefficients. 2010 Mathematics Subject Classification. Primary 11P81, 05A17.

1. Introduction

A partition of a positive integer n is any non-increasing sequence of positive integers which add up to n. For example, $\lambda = (5, 3, 1, 1)$ is a partition of 10. We denote the number of partitions of n by p(n) and agree that p(0) = 1 for convention. The generating function of p(n) is

$$\sum_{n=0}^{\infty} p(n)q^n = \frac{1}{(q;q)_{\infty}}.$$
(1.1)

Here and for the rest of this paper, we assume |q| < 1 and use the notation

$$(x_1, x_2, \cdots, x_k; q)_m = \prod_{n=0}^{m-1} (1 - x_1 q^n) (1 - x_2 q^n) \cdots (1 - x_k q^n), \quad m \in \mathbb{N} \cup \{\infty\}.$$
 (1.2)

One of the most famous q-series identities is Euler's pentagonal number theorem:

$$(q;q)_{\infty} = \sum_{j=0}^{\infty} (-1)^j q^{j(3j+1)/2} (1 - q^{2j+1}).$$
(1.3)

One can easily derive the following recurrence relation for p(n) from (1.1) and (1.3) [Ber06, Corollary 1.3.6]

$$\sum_{j=0}^{\infty} (-1)^j \Big(p(n-j(3j+1)/2) - p(n-j(3j+5)/2 - 1) \Big) = 0, \tag{1.4}$$

where we assume p(m) = 0 for m < 0.

52 1. Introduction

In 2012, Andrews and Merca [AnMel2] studied the truncated series arising from (1.3). They established the following interesting identity:

$$\frac{1}{(q;q)_{\infty}} \sum_{i=0}^{k-1} (-1)^{j} q^{j(3j+1)/2} (1 - q^{2j+1}) = 1 + (-1)^{k-1} \sum_{n=k}^{\infty} \frac{q^{\binom{k}{2} + (k+1)n}}{(q;q)_n} \begin{bmatrix} n-1 \\ k-1 \end{bmatrix}. \tag{1.5}$$

Here the q-binomial coefficient is defined as

$$\begin{bmatrix} n \\ k \end{bmatrix} = \begin{bmatrix} n \\ k \end{bmatrix}_q := \begin{cases} \frac{(q;q)_n}{(q;q)_k(q;q)_{n-k}}, & \text{if } 0 \le k \le n, \\ 0, & \text{otherwise.} \end{cases}$$
(1.6)

As a consequence, they proved that for $k \geq 1$,

$$(-1)^{k-1} \sum_{j=0}^{k-1} (-1)^j \left(p(n-j(3j+1)/2) - p(n-j(3j+5)/2 - 1) \right) = M_k(n), \tag{1.7}$$

where $M_k(n)$ is the number of partitions of n in which k is the least integer that is not a part and there are more parts > k than there are < k. It follows that for n > 0 and $k \ge 1$ (see [AnMel2, Corollary 1.3]),

$$(-1)^{k-1} \sum_{j=0}^{k-1} (-1)^j \left(p(n-j(3j+1)/2) - p(n-j(3j+5)/2 - 1) \right) \ge 0.$$
 (1.8)

Andrews and Merca [AnMe12, Question (1)] asked whether one could give a combinatorial proof of (1.7) hopefully characterizing the partitions remaining after a sieving process.

As a generalization of (1.3), Jacobi's triple product identity states that for $z \neq 0$,

$$\sum_{j=-\infty}^{\infty} (-z)^j q^{j(j-1)/2} = (z;q)_{\infty} (q/z;q)_{\infty} (q;q)_{\infty}.$$
(1.9)

By considering truncated series arising from Jacobi's triple product identity, Andrews and Merca [AnMe12, Question (2)] and Guo and Zeng [GuZe13, Conjecture 6.1] posed the following conjecture:

Conjecture 1.1. For positive integers k, R, S with $k \ge 1$ and $1 \le S < R/2$, the coefficient of q^n with $n \ge 1$ in

$$(-1)^{k-1} \frac{1}{(q^S, q^{R-S}, q^R; q^R)_{\infty}} \sum_{j=0}^{k-1} (-1)^j q^{Rj(j+1)/2 - Sj} (1 - q^{(2j+1)S})$$
(1.10)

is nonnegative.

Clearly (1.8) is the special case (R, S) = (3, 1) of this conjecture. Guo and Zeng [GuZe13] provided more evidences to this conjecture, For example, they proved this conjecture for the case (R, S) = (4, 1) and a weaker inequality for the case (R, S) = (2, 1). Note that for (R, S) = (4, 1) and (2, 1), the partition functions generated by the infinite products in (1.10) are pod(n) and $\overline{p}(n)$, respectively. Here pod(n) counts the number of partitions of n with odd parts distinct, and $\overline{p}(n)$ enumerates the number of overpartitions of n. Specifically speaking, Guo and Zeng proved the following inequalities in analogy with (1.8): for $n, k \geq 1$,

$$(-1)^{k-1} \sum_{j=0}^{k-1} (-1)^j \left(\operatorname{pod}(n - j(2j+1)) - \operatorname{pod}(n - (j+1)(2j+1)) \right) \ge 0, \tag{1.11}$$

$$(-1)^k \left(\overline{p}(n) + 2\sum_{j=1}^k (-1)^j \overline{p}(n-j^2) \right) \ge 0.$$
(1.12)

They proved the above inequalities by establishing identities analogous to (1.5). Andrews and Merca [AnMe18] pointed out that (1.5) and analogous identities for $\overline{p}(n)$ and pod(n) in the work of Guo and Zeng [GuZe13] are essentially corollaries of the Rogers-Fine identity.

In 2015, two different proofs of Conjecture 1.1 were given by Mao [Mao15] and Yee [Yee15] independently. Mao's proof is algebraic while Yee's proof is combinatorial. Mao [Mao15] also proved that Conjecture 1.1 is true for all $k \ge 1$ and $1 \le S < R$.

The inequality (1.8) is not an isolated phenomenon. Besides the general result given in Conjecture 1.1, Guo and Zeng [GuZe13] also provided another example. They considered the partition function t(n) defined by

$$\sum_{n=0}^{\infty} t(n)q^n = \frac{1}{(q;q)_{\infty}^3}.$$

Note that t(n) enumerates the number of partition triples (or equivalently, 3-colored partitions) of n. From Jacobi's identity

$$(q;q)_{\infty}^3 = \sum_{j=0}^{\infty} (-1)^j (2j+1)q^{j(j+1)/2},$$

One easily finds the recurrence formula

$$\sum_{j=0}^{\infty} (-1)^j (2j+1)t(n-j(j+1)/2) = 0, \tag{1.13}$$

where t(m) = 0 for negative m. Guo and Zeng [GuZe13, Conjecture 6.4] conjectured that for $n, k \ge 1$, there holds

$$(-1)^k \sum_{j=0}^k (-1)^j (2j+1)t(n-j(j+1)/2) \ge 0.$$
 (1.14)

For convenience, we introduce a notation. For any Laurent series

$$f(q) = \sum_{n \in \mathbb{Z}} a_n q^n$$
 and $g(q) = \sum_{n \in \mathbb{Z}} b_n q^n$ (1.15)

with real coefficients, we say that $f(q) \succeq g(q)$ when $a_n \geq b_n$ holds for all $n \in \mathbb{Z}$. With this notation, (1.14) can also be stated as

$$\frac{(-1)^k}{(q;q)_{\infty}^3} \sum_{j=0}^k (-1)^j (2j+1) q^{j(j+1)/2} \succeq 0.$$
 (1.16)

This conjectured was confirmed by Mao [Mao15] using q-series manipulations and then proved by He, Ji and Zang [HJZ16] using combinatorial arguments. Recently, Wang and Yee [WaYe19] proved that for $1 \le S \le R/2$ and $m \ge 1$,

$$\frac{1}{(q^R, q^S, q^{R-S}; q^R)_{\infty}} \sum_{n=0}^{m-1} (-1)^n q^{\binom{n+1}{2}R - nS} (1 - q^{(2n+1)S})$$

$$= 1 + (-1)^{m-1} q^{\binom{m}{2}R} \sum_{n=m}^{\infty} \sum_{\substack{i+j+h+k=n\\i,j,h,k>0}} \frac{q^{(mj+hk)R + (h-k)S + nR}}{(q^R; q^R)_i (q^R; q^R)_j (q^R; q^R)_h (q^R; q^R)_k} \begin{bmatrix} n-1\\m-1 \end{bmatrix}_{q^R}. \tag{1.17}$$

This gives a reminiscent of (1.5) and reproves Conjecture 1.1. They also gave explicit series form of the truncated series in (1.16), which reconfirms (1.16). We remark here that there are other works

54 1. Introduction

related to this topic. For example, Chan, Ho and Mao [CHM16] investigated the truncated series arising from the quintuple product identity.

Inspired by their works, there are two goals of this paper. First, we want to give a new proof for (1.8) by giving a new combinatorial interpretation to its left side. To describe our result, we need few more notations. Let P(m) be the set of all partitions of m and agree that $P(m) = \emptyset$ for $m \le 0$. For a finite set A, let |A| denote the number of elements in A. Recall Dyson's rank of a partition λ , denoted as rank(λ), is defined as the largest part minus the number of parts in λ . For any nonnegative integer n and integer j, we denote

$$A_j^{(1)}(n) := \{ \lambda \in P(n - j(3j + 1)/2) : \operatorname{rank}(\lambda) \le 3j \}, \tag{1.18}$$

$$A_j^{(2)}(n) := \{ \lambda \in P(n - j(3j + 1)/2) : \operatorname{rank}(\lambda) > 3j \}.$$
(1.19)

We proved the following theorem, which reproves (1.8).

Theorem 1.2. For n > 0, $k \ge 1$,

$$(-1)^{k-1} \sum_{j=0}^{k-1} (-1)^{j} \left(p(n-j(3j+1)/2) - p(n-j(3j+5)/2 - 1) \right)$$

= $|A_{k-1}^{(2)}(n)| - |A_{-k}^{(1)}(n)|.$ (1.20)

Furthermore, we have $|A_k^{(1)}(n)| = |A_{k-1}^{(2)}(n)| \ge |A_{-k}^{(1)}(n)|$.

In [KoBu15], Kolitsch and Burnette gave a combinatorial interpretation of the partial sum on the left side of (1.8) using partition pairs. Compared with their interpretation, the major difference is that we use partition rank statistics.

The second goal of this paper is to provide more instances of nonnegative series arising from truncated sums. Our question of motivation is: if we start with a new recurrence relation for the partition function p(n) and study the truncated sums, can we find similar nonnegativity result?

A natural candidate of the recurrence relation can be found in the following way. Taking logarithmic differentiation with respect to z on both sides of (1.9), we obtain

$$\frac{\sum_{j=-\infty}^{\infty} (-1)^j j z^j q^{j(j-1)/2}}{(z, q/z, q; q)_{\infty}} = \sum_{n=0}^{\infty} \left(\frac{q^{n+1}/z}{1 - q^{n+1}/z} - \frac{zq^n}{1 - zq^n} \right). \tag{1.21}$$

Replacing q by q^R and setting $z = q^{R-S}$, we obtain

$$\frac{\sum_{j=-\infty}^{\infty} (-1)^j j q^{Rj(j+1)/2 - Sj}}{(q^S, q^{R-S}, q^R; q^R)_{\infty}} = \sum_{n=0}^{\infty} \left(\frac{q^{nR+S}}{1 - q^{nR+S}} - \frac{q^{nR+R-S}}{1 - q^{nR+R-S}} \right). \tag{1.22}$$

If we set (R, S) = (3, 1), then we obtain the following recurrence relation:

$$\sum_{j(3j+1)/2 \le n, j \in \mathbb{Z}} (-1)^j jp \left(n - j(3j+1)/2 \right) = d_{1,3}(n) - d_{2,3}(n), \tag{1.23}$$

where $d_{r,3}(n)$ is the number of divisors of n which are congruent to r modulo 3. Considering partial sums in (1.23), by computation, it appears that

$$p(n-1) \ge d_{1,3}(n) - d_{2,3}(n),$$

$$p(n-1) - p(n-2) - 2p(n-5) \le d_{1,3}(n) - d_{2,3}(n),$$

$$p(n-1) - p(n-2) - 2p(n-5) + 2p(n-7) + 3p(n-12) \ge d_{1,3}(n) - d_{2,3}(n),$$

This observation motivates us to obtain some inequalities similar to (1.8), (1.11), (1.12) and (1.14). In fact, if we study truncated sums in the series in (1.22), we can obtain the following general result in analogy with Conjecture 1.1.

Theorem 1.3. For positive integers k, R, S with $k \ge 1$ and $1 \le S < R$, the coefficient of q^n with $n \ge 1$ in

$$(-1)^{k-1} \left(\frac{\sum\limits_{j=-k}^{k-1} (-1)^j jq^{Rj(j+1)/2-Sj}}{(q^S, q^{R-S}, q^R; q^R)_{\infty}} - \sum\limits_{n=0}^{\infty} \left(\frac{q^{nR+S}}{1 - q^{nR+S}} - \frac{q^{nR+R-S}}{1 - q^{nR+R-S}} \right) \right)$$

is nonnegative.

As a special case, setting (R, S) = (3, 1), we confirm our aforementioned observation.

Corollary 1.4. Let $k \geq 1$ be a positive integer.

(1) If k is odd, we have

$$\sum_{j=-k}^{k-1} (-1)^j jp(n-j(3j+1)/2) \ge d_{1,3}(n) - d_{2,3}(n).$$

(2) If k is even, we have

$$\sum_{j=-k}^{k-1} (-1)^j jp(n-j(3j+1)/2) \le d_{1,3}(n) - d_{2,3}(n).$$

The paper is organized as follows. In Section 2, we first sketch the combinatorial proof of the recurrence relation (1.4) given by Bressoud and Zeilberger [BrZe85], and then we prove Theorem 1.2. In Section 3, we follow the techniques used by Mao [Mao15] to prove Theorem 1.3 via q-series manipulations. We will pose two open problems in the end of this paper.

2. Proof of Theorem 1.2

Bressoud and Zeilberger [BrZe85] discovered a beautiful bijective proof of Euler's partition recurrence (1.4). We sketch their proof here and use it to give a short explanation to (1.8).

Let b(j) = j(3j+1)/2 where j is any integer. Then (1.4) is equivalent to

$$\sum_{j \text{ even}} p(n - b(j)) = \sum_{j \text{ odd}} p(n - b(j)). \tag{2.24}$$

To prove (2.24), it suffices to establish a bijection between the two sets of partitions enumerated on both sides. Following Bressoud and Zeilberger, for any partition $\lambda = (\lambda_1, \dots, \lambda_t) \in P(n - b(j))$ with $\lambda_1 \geq \lambda_2 \geq \dots \geq \lambda_t$, we define

$$\phi(\lambda) := \begin{cases} (t+3j-1, \lambda_1 - 1, \lambda_2 - 1, \cdots, \lambda_t - 1) & \text{Case 1: if } t + 3j \ge \lambda_1 \\ (\lambda_2 + 1, \lambda_3 + 1, \cdots, \lambda_t + 1, 1, \cdots, 1) & \text{Case 2: if } t + 3j < \lambda_1 \end{cases}$$

where there are $\lambda_1 - (t+3j) - 1$ copies of 1s in Case 2. Note that in Case 1, ϕ maps the elements in P(n-b(j)) to P(n-b(j-1)). In Case 2, ϕ maps the elements in P(n-b(j)) to P(n-b(j+1)). It is not difficult to show that ϕ^2 is the identity map and thus ϕ is a bijection between $\cup_{j \text{ even}} P(n-b(j))$ and $\cup_{j \text{ odd}} P(n-b(j))$. This proves (2.24) and hence Euler's pentagonal number theorem.

We are now ready to give a proof of (1.8) in a combinatorial way.

Proof of Theorem 1.2. Recall the definitions of $A_j^{(1)}(n)$ and $A_j^{(2)}(n)$ in (1.18) and (1.19). It follows that $P(n-b(j))=A_j^{(1)}(n)\cup A_j^{(2)}(n)$. From the definition of ϕ , we see that ϕ maps a partition in $A_j^{(1)}(n)$ to a partition in $A_{j-1}^{(2)}(n)$, and ϕ maps a partition in $A_{j-1}^{(2)}(n)$ to a partition in $A_j^{(1)}(n)$. Since ϕ is a bijection, we deduce that

$$|A_i^{(1)}(n)| = |A_{i-1}^{(2)}(n)|. (2.25)$$

We have

$$(-1)^{k-1} \sum_{j=0}^{k-1} (-1)^{j} \left(p(n-j(3j+1)/2) - p(n-j(3j+5)/2 - 1) \right)$$

$$= (-1)^{k-1} \sum_{j=-k}^{k-1} (-1)^{j} p(n-j(3j+1)/2)$$

$$= (-1)^{k-1} \sum_{j=-k}^{k-1} (-1)^{j} \left(|A_{j}^{(1)}(n)| + |A_{j}^{(2)}(n)| \right)$$

$$= - \left(|A_{-k}^{(1)}(n)| + |A_{-k}^{(2)}(n)| \right) + \left(|A_{-k+1}^{(1)}(n)| + |A_{-k+1}^{(2)}(n)| \right) - \left(|A_{-k+2}^{(1)}(n)| + |A_{-k+2}^{(2)}(n)| \right)$$

$$+ |A_{-k+2}^{(2)}(n)| + \cdots - \left(|A_{k-2}^{(1)}(n)| + |A_{k-2}^{(2)}(n)| \right) + \left(|A_{k-1}^{(1)}(n)| + |A_{k-1}^{(2)}(n)| \right)$$

$$= |A_{k-1}^{(2)}(n)| - |A_{-k}^{(1)}(n)|. \tag{2.26}$$

This proves (1.20). Now it suffices to prove that

$$|A_{k-1}^{(2)}(n)| \ge |A_{-k}^{(1)}(n)|. \tag{2.27}$$

For any partition $\lambda=(\lambda_1,\lambda_2,\cdots,\lambda_t)$, we denote by $\overline{\lambda}=(\lambda_1',\lambda_2',\cdots,\lambda_s')$ its conjugate partition. That is, λ_i' is the number of parts in λ that are $\geq i$. See [And76, pp. 7-8] for more discussion of conjugate partitions. Now for each partition $\lambda=(\lambda_1,\lambda_2,\cdots,\lambda_t)\in A_{-k}^{(1)}(n)$, we have

$$\lambda_1 + \lambda_2 + \dots + \lambda_t = n - \frac{k(3k-1)}{2}, \quad t - 3k \ge \lambda_1.$$
 (2.28)

Consider its conjugation $\overline{\lambda} = (\lambda_1', \lambda_2', \dots, \lambda_s')$. We have $\lambda_1' \geq \lambda_2' \geq \dots \geq \lambda_s'$, $\lambda_1' = t$, $s = \lambda_1$ and hence $\lambda_1' - s \geq 3k$. We define

$$\psi(\lambda) := (\lambda_1' + 2k - 1, \lambda_2', \cdots, \lambda_s').$$

Clearly ψ gives an injection from $A_{-k}^{(1)}(n)$ to $A_{k-1}^{(2)}(n)$. Hence (2.27) holds. This completes the proof of Theorem 1.2.

Remark 1. We shall give an example illustrating the injection ψ . We choose n=15, k=2. We have

The map ψ works as:

$$\psi: (2,2,1,1,1,1,1,1) \quad (\mapsto conjugation \quad (8,2)) \quad \longmapsto (11,2),$$

$$\psi: (2,1,1,1,1,1,1,1,1) \quad (\mapsto conjugation \quad (9,1)) \quad \longmapsto (12,1),$$

$$\psi: (1,1,1,1,1,1,1,1,1,1,1) \quad (\mapsto conjugation \quad (10)) \quad \longmapsto (13).$$

This section is devoted to proving Theorem 1.3. We will follow the method and use several results in the work of Mao [Mao15].

Proof of Theorem 1.3. We denote

$$D_k(q) := \frac{\sum_{j=-k}^{k-1} (-1)^j j q^{Rj(j+1)/2 - Sj}}{(q^S, q^{R-S}, q^R; q^R)_{\infty}} - \sum_{n=0}^{\infty} \left(\frac{q^{nR+S}}{1 - q^{nR+S}} - \frac{q^{nR+R-S}}{1 - q^{nR+R-S}} \right). \tag{3.29}$$

We have

$$-(q^{S}, q^{R-S}, q^{R}; q^{R})_{\infty} D_{k}(q)$$

$$= \left(\sum_{j=-\infty}^{-k-1} + \sum_{j=k}^{\infty}\right) (-1)^{j} j q^{\frac{R}{2}j^{2} + (\frac{R}{2} - S)j} \quad \text{(by (1.22))}$$

$$= \sum_{j=k}^{\infty} \left((-1)^{j} j q^{\frac{R}{2}j^{2} + (\frac{R}{2} - S)j} + (-1)^{-j-1} (-j-1) q^{\frac{R}{2}(j+1)^{2} - (\frac{R}{2} - S)(j+1)} \right)$$

$$= \sum_{j=0}^{\infty} \left((-1)^{j+k} (j+k) q^{\frac{R}{2}(j+k)^{2} + (\frac{R}{2} - S)(j+k)} + (-1)^{j+k} (j+k+1) q^{\frac{R}{2}(j+k)^{2} + (\frac{R}{2} + S)(j+k) + S} \right)$$

$$= (-1)^{k} q^{\frac{R}{2}k^{2} + (\frac{R}{2} - S)k} \sum_{j=0}^{\infty} \left((-1)^{j} (j+k) q^{\frac{R}{2}j^{2} + Rjk + (\frac{R}{2} - S)j} + (-1)^{j} (j+k+1) q^{\frac{R}{2}j^{2} + Rjk + (\frac{R}{2} + S)j + S(2k+1)} \right). \tag{3.30}$$

Following [Mao15, Lemma 3.1], we set

$$f_{R,S,k} := (q^R, q^{Rk-S}; q^R)_{\infty} \sum_{n=0}^{\infty} \frac{q^{Rn}}{(q^R, q^{Rk-S}; q^R)_n}.$$
 (3.31)

It was proved that [Mao15, Eqs. (3.3) and (3.4)]

$$\sum_{j=1}^{\infty} (-1)^{j+1} q^{Rj(j-1)/2 + Rkj + Sj} = 1 - f_{R,-S,k}, \tag{3.32}$$

$$\sum_{j=1}^{\infty} (-1)^{j+1} q^{Rj(j-1)/2 + Rkj - Sj} = 1 - f_{R,S,k}.$$
(3.33)

From (3.30) we can write

$$(-1)^{k-1}(q^S, q^{R-S}, q^R; q^R)_{\infty} D_k(q)$$

$$= q^{\frac{R}{2}k^2 + (\frac{R}{2} - S)k} \Big((k-1)I_1(q) + kI_2(q) + I_3(q) + I_4(q) \Big),$$
(3.34)

where

$$I_1(q) := \sum_{j=0}^{\infty} (-1)^j q^{\frac{R}{2}(j^2+j) + (kR-S)j},$$
(3.35)

$$I_2(q) := \sum_{j=0}^{\infty} (-1)^j q^{\frac{R}{2}j^2 + Rjk + (\frac{R}{2} + S)j + S(2k+1)}, \tag{3.36}$$

$$I_3(q) := \sum_{j=0}^{\infty} (-1)^j (j+1) q^{\frac{R}{2}j^2 + Rjk + (\frac{R}{2} - S)j},$$
(3.37)

$$I_4(q) := \sum_{j=0}^{\infty} (-1)^j (j+1) q^{\frac{R}{2}j^2 + Rjk + (\frac{R}{2} + S)j + S(2k+1)}.$$
 (3.38)

We shall treat $I_1(q), I_2(q), I_3(q)$ and $I_4(q)$ one by one.

First, replacing j by j-1 in (3.35), we obtain

$$I_1(q) = q^{S-kR} \sum_{j=1}^{\infty} (-1)^{j+1} q^{\frac{R}{2}j(j-1) + (kR-S)j} = q^{S-kR} (1 - f_{R,S,k}).$$
(3.39)

Similarly, we have

$$I_2(q) = \sum_{j=1}^{\infty} (-1)^{j+1} q^{\frac{R}{2}j(j-1) + (kR+S)j + (2S-R)k} = q^{(2S-R)k} (1 - f_{R,-S,k}).$$
(3.40)

From (3.33) we have

$$\frac{1 - f_{R,S,k}}{(q^S, q^{R-S}, q^R; q^R)_{\infty}} = \frac{\sum_{j=1}^{\infty} (-1)^{j+1} q^{Rj(j-1)/2 + Rkj - Sj}}{(q^R, q^{R-S}, q^S; q^R)_{\infty}} \quad \text{(split the sum according to } j \text{ even and odd)}$$

$$= \frac{1}{(q^R, q^S; q^R)_{\infty}} \sum_{j=0}^{\infty} q^{Rj(2j+1) + Rk(2j+1) - S(2j+1)} \times \frac{1 - q^{R(2j+1) + Rk - S}}{(q^{R-S}; q^R)_{\infty}} \succeq 0. \quad (3.41)$$

Similarly, (see also [Mao15, p. 21])

$$\frac{1 - f_{R,-S,k}}{(q^S, q^{R-S}, q^R; q^R)_{\infty}}
= \frac{\sum_{j=1}^{\infty} (-1)^{j+1} q^{Rj(j-1)/2 + Rkj + Sj}}{(q^R, q^{R-S}, q^S; q^R)_{\infty}}
= \frac{1}{(q^R, q^{R-S}; q^R)_{\infty}} \sum_{j=0}^{\infty} q^{Rj(2j+1) + Rk(2j+1) + S(2j+1)} \times \frac{1 - q^{R(2j+1) + Rk + S}}{(q^S; q^R)_{\infty}} \succeq 0.$$
(3.42)

From (3.39)–(3.42) we deduce that

$$\frac{I_1(q)}{(q^S, q^{R-S}, q^R; q^R)_{\infty}} \succeq 0, \tag{3.43}$$

$$\frac{I_2(q)}{(q^S, q^{R-S}, q^R; q^R)_{\infty}} \succeq 0. \tag{3.44}$$

Now we turn to $I_3(q)$. From [Mao15, p. 22] we find

$$\sum_{j=0}^{\infty} (-1)^j (j+1) a^j q^{j(j+1)/2} = (a,q;q)_{\infty} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{q^{2n+m}}{(a,q;q)_n (1-aq^{n+m})}.$$
 (3.45)

Replacing q by q^R and setting $a = q^{kR-S}$, we obtain

$$I_{3}(q) = \sum_{j=0}^{\infty} (-1)^{j} (j+1) q^{\frac{R}{2}j(j+1)+(kR-S)j}$$

$$= (q^{kR-S}, q^{R}; q^{R})_{\infty} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{q^{R(2n+m)}}{(q^{kR-S}, q^{R}; q^{R})_{n} (1 - q^{kR-S+R(n+m)})}.$$
(3.46)

It follows that

$$\frac{I_3(q)}{(q^S, q^{R-S}, q^R; q^R)_{\infty}} = \frac{1}{(q^S; q^R)_{\infty}(q^{R-S}; q^R)_{k-1}} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{q^{R(2n+m)}}{(q^{kR-S}, q^R; q^R)_n (1 - q^{kR-S+R(n+m)})} \succeq 0.$$
(3.47)

Similarly, replacing q by q^R and setting $a = q^{kR+S}$ in (3.45), we obtain

$$I_4(q) = \sum_{j=0}^{\infty} (-1)^j (j+1) q^{\frac{R}{2}j(j+1) + (kR+S)j + S(2k+1)}$$

$$= q^{S(2k+1)} (q^{kR+S}, q^R; q^R)_{\infty} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{q^{R(2n+m)}}{(q^{kR+S}, q^R; q^R)_n (1 - q^{kR+S+R(n+m)})}.$$
(3.48)

It follows that

$$\frac{I_4(q)}{(q^S, q^{R-S}, q^R; q^R)_{\infty}} = \frac{q^{S(2k+1)}}{(q^{R-S}; q^R)_{\infty}(q^S; q^R)_k} \sum_{n=0}^{\infty} \sum_{m=0}^{\infty} \frac{q^{R(2n+m)}}{(q^{kR+S}, q^R; q^R)_n (1 - q^{kR+S+R(n+m)})} \succeq 0.$$
(3.49)

Combining (3.43), (3.44), (3.47) and (3.49), from (3.34) we conclude that

$$(-1)^{k-1}D_k(q) \succeq 0.$$

This completes the proof.

We end this paper with three problems for investigation in the future. From (1.7) and (1.20) we conclude that

$$M_k(n) = |A_{k-1}^{(2)}(n)| - |A_{-k}^{(1)}(n)|. (3.50)$$

Problem 1. Can one prove (3.50) directly and perhaps in a combinatorial way?

Problem 2. The following identity can be viewed as a generalization of Euler's pentagonal number theorem:

$$(q^S, q^{R-S}, q^R; q^R)_{\infty} = \sum_{j=-\infty}^{\infty} (-1)^j q^{Rj(j+1)/2 - Sj}.$$
(3.51)

Can one find a mapping generalizing the involution ϕ of Bressoud and Zeilberger to prove this identity combinatorially? Moreover, can one prove Conjecture 1.1 by using such mapping?

Problem 3. Is it possible to find an identity in analogy with (1.17) which proves Theorem 1.3?

While there might be different approaches in solving the above problems, we have some expectations for the solutions as follows. We hope that someone can find a solution of Problem 2 by establishing a result similar to Theorem 1.2. We also expect that the identity for Problem 3 can provide combinatorial interpretation of the coefficients in the series in Theorem 1.3, which can naturally explain the nonnegativity.

Acknowledgement. This work was supported by the National Natural Science Foundation of China (11801424) and a start-up research grant of the Wuhan University.

References

- [And76] G.E. Andrews, The Theory of Partitions, Encyclopedia Math. Appl. Ser., Addison-Wesley Pub. Co., NY, 1976.
- [AnMe12] G.E.Andrews and M. Merca, The truncated pentagonal number theorem, J. Combin. Theory Ser. A 119 (2012), 1639– 1643.
- [AnMe18] G.E. Andrews and M. Merca, Truncated theta series and a problem of Guo and Zeng, J. Combin. Theory Ser. A 154 (2018), 610–619.
- [Ber06] B.C. Berndt, Number Theory in the Spirit of Ramanujan, AMS-Providence, 2006.
- [BrZe85] D. Bressoud and D. Zeilberger, Bijecting Euler's partitions-recurrence, Amer. Math. Monthly. 92 (1985), 54–55.
- [CHM16] S.H. Chan, T.P.N. Ho and R. Mao, Truncated series from the quintuple product identity, J. Number Theory 169 (2016), 420–438.
- [GuZe13] V.J.W. Guo and J. Zeng, Two truncated identities of Gauss, J. Combin. Theory Ser. A 120(3) (2013), 700–707.
- [HJZ16] T.Y. He, K.Q. Ji and W.J.T. Zang, Bilateral truncated Jacobi's identity, European J. Combin. 51 (2016), 255–267.
- [KoBu15] L.W. Kolitsch and M. Burnette, Interpreting the truncated pentagonal number theorem using partition pairs, Electron. J. Combin., 22(2) (2015), #P2.55.
- [Mao15] R. Mao, Proofs of two conjectures on truncated series, J. Combin. Theory Ser. A 130 (2015), 15–25.
- $[Mer12] \qquad \text{M. Merca, } \textit{Fast algorithm for generating ascending compositions}, \text{ J. Math. Model. Algorithms 11 (2012)}, 89-104.$
- [WaYe19] C. Wang and A.J. Yee, Truncated Jacobi triple product series, J. Combin. Theory Ser. A 166 (2019), 382–392.
- [Yee15] A.J. Yee, A truncated Jacobi triple product theorem, J. Combin. Theory Ser. A 130 (2015), 1–14.

Liuquan Wang

School of Mathematics and Statistics

Wuhan University

Wuhan 430072, Hubei

People's Republic of China

e-mail: wanglq@whu.edu.cn;mathlqwang@163.com